AMENDMENT OF SOLICITATION	/MODIFICATION	OF CONTRACT	1. 6	ONTRACT ID	CODE	PAGE OF PAGE
	3. EFFECTIVE DATE				5. PROJEC	TNO. (If applicable)
Two (2)	9/30/87	ORM-87-230 dt				
6. ISSUED BY CODE		7. ADMINISTERED BY	(If ot	her than I tem t	CODE	<u> </u>
U.S. Nuclear Regulatory Commis Division of Contracts Washington, D.C. 20555	ssion					
NAME AND ADDRESS OF CONTRACTOR (No.,	street county. State and	ZIP Code)	TW	9A. AMENDM	ENT OF SO	LICITATION NO.
. NAME AND ADDRESS OF CONTRACTOR (NO.,	atteet, county, busin and		W	2711 7111121112111		
Southern Bell Telephone Compar ATTN: Dana Lindsay 1780 Century Circle, N.E. Atlanta, GA 30345	ny					() CONTRACT/ORDE
Atlanta, GA 30345				NO.		
			X	NRC-33	-87-230	
				108. DATED	SEE ITEM	13)
CODE	FACILITY CODE			10/1/86		
11. THIS ITEM	ONLY APPLIES TO	AMENDMENTS OF S	OLIC	ITATIONS		
(a) By completing Items 8 and 15, and returning submitted; or (c) By separate letter or telegram which MENT TO BE RECEIVED AT THE PLACE DESIGNATION REJECTION OF YOUR OFFER. If by virtue of letter, provided each telegram or letter makes reference 12. ACCOUNTING AND APPROPRIATION DATA (c)	th includes a reference to the ATED FOR THE RECEIP this amendment you desirbe to the solicitation and the solicita	the solicitation and amend PT OF OFFERS PRIOR T re to change an offer alrea his amendment, and is rec	dment O THE ady sub beived (numbers. FAIL HOUR AND I mitted, such ch prior to the ope	DATE SPEC nange may be ning hour a	IFIED MAY RESULT e made by telegram on and date specified.
APPN NO.: 31X0200.108 B&B	No.: 10-20-23-0		***			\$18,000.00
IT MODIFIES T	PLIES ONLY TO MOD THE CONTRACT/ORD	ER NO. AS DESCRIB	BED IT	NITEM 14.		
A. THIS CHANGE ORDER IS ISSUED PURSUATRACT ORDER NO. IN ITEM 10A.	ANT TO: (Specify author	rity) THE CHANGES SET	TFOR	TH IN ITEM 1	ARE MAD	E IN THE CON-
B. THE ABOVE NUMBERED CONTRACT/DRI appropriation date, etc.) SET FORTH IN ITE	DER IS MODIFIED TO R	REFLECT THE ADMINIS	TRAT R 43.1	IVE CHANGES	(such as ch	anges in paying office
C. THIS SUPPLEMENTAL AGREEMENT IS EN	NTERED INTO PURSUA	NT TO AUTHORITY OF	;			
X Mutual agreement of the par D. OTHER (Specify type of modification and au						
E. IMPORTANT: Contractor [] is not, [X]	is required to sign the				to the issu	
This modification is issued for by one additional year, effect Section B.2 for FY 88 services incorporate Section H.3 - Optionare hereby incorporated:	ive October 1, ; increase cont	1987 through Se ract ceiling an	ptem d ob	ber 30, 1 ligated a	988; in mount;	corporate and
 Under Section B - Supplier of Work is modified to rea 	s or Services and as follows:	nd Prices/Costs	, Se	ction B.1	- Desc	ription
"B.1 Description of Work						9/30/87)
Except as provided herein, all terms and conditions of and effect.	the document referenced	in Item 9A or 10A, as he	retofo	re changed, rem	ains unchan	ged and in full force
SA. NAME AND TITLE OF SIGNER (Type or print)	1	TIGA. NAME AND TITL			G OFFICER	(Type or print)
156, CONTRACTOR/OFFEROR	15C. DATE SIGNED	- MILO				16C. DATE SIGNE
(Signature of person authorized to sign)	The state of the s	BY Clois Y. U. (Signature	01 00	tracting Office	17)	13/31/87
PREVIOUS EDITION UNUSABLE PDR	00123 871222 CONTR 3-87-230 PDF	2	U.	Pre	ANDARD F scribed by G R (48 CFR)	

NRC-33-87-230 Modification No. 2 Page 2 of 3 vised to read:

The "TOTAL ESTIMATED AMOUNT" under Section B.1 is revised to read:
"TOTAL ESTIMATED AMOUNT - FY 87 \$36,640.00"

- 3. Section B.2 Consideration and Obligation is modified to read:
 - "B.3 Consideration and Obligation"
- 4. Section B.2 Description of Work, as shown on attached Standard Form 36, is hereby incorporated in its entirety.
- 5. Under Section B.3 Consideration and Obligation, sentence one of paragraph a. is revised to read as follows:

"The total estimated amount of this contract (ceiling) for the products/services ordered, delivered, and accepted under this contract is \$68,879.00."

6. Under Section B.3 - Consideration and Obligation, sentence one of paragraph b. is revised to read as follows:

"The amount presently obligated with respect to this contract is \$54,640.00."

7. Section F.1 - <u>Duration of Contract Period</u> is revised to read as follows:

"F.1 Duration of Contract Period

This contract shall commence on October 1, 1986 and end on September 30, 1988 with one twelve-month option period."

8. The following clause is hereby incorporated as Section H.3 of the contract.

"H.3 Option to Extend the Period of Performance

This contract may be extended for one additional twelve month period at the option of the Government by the Contracting Officer. The Contracting Officer will give preliminary written notice of an intent to exercise such option ninety (90) days prior to the last day of the period of performance (such preliminary notice shall not be construed as an exercise of the option) and will not bind the Government to exercise the option. This notice will include the Government's estimate regarding the amount of effort required for performance under the option period. Any revision or additions to the Statement of Work will also be included in the notice.

NRC-33-87-230 Modification No. 2 Page 3 of 3

Upon receipt of the notice of intent to exercise the option, the Contractor shall submit to the Contracting Officer, within thirty (30) days a cost estimate for the proposed extended period of performance. This cost estimate shall be prepared in the identical format as the original cost proposal.

If the Government exercises the option, the total duration of this contract, including the exercise of the option, shall not exceed thirty-six months."

All other terms and conditions remain the same.

STANDARD FORM 36, JULY 1966 GENERAL SERVICES ADMINISTRATION FED. PROC. REG. (41 CFR) 1-16.101

CONTINUATION SHEET

REF. NO. OF DOC. BEING CONT'D.

NRC-33-87-230

. ..

PAGE

2a 11

OF

MAME OF OFFEROR OR CONTRACTOR

Southern	Bell	Tel	lephone	Company
----------	------	-----	---------	---------

ITEM NO.		SUPPLIES/SERVICES				QUANT	TY UNIT	UNIT PRICE	ТИВОМА
	p 2	December	on of Work (Se	evices to be	porfo	rmed for	the no	riod	
	D. Z	Descripti		tober 1, 198					
	The	Contractor	shall provide	telecommunic	ation				
	serv	vices inclu	ding, but not	limited to, o	circui	try,			
			removals, mai						
			nd other assoc Emergency Not						
			Network at va						
	plan	its. Addit	ionally, the Co	ontractor sha	11				
			try in support			-1-1			
			arch projects a			sities.		Estimated	
		mated cost		chie concract	. unu			Monthly	
						Mont	hs	Charge	
	1.		lear Power Plan						
		Bill Nos:	803-M67-0040 (1			12	EA	\$ 131.20	\$ 1,574.4
			803-345-3503 (1 803-345-5726 (1			12	EA	\$ 57.00	\$ 684.00
		Estimated	One-Time Charge		No. 1		12.5	7 37.00	004.0
	2.		nt Nuclear Pow						
		Bill Nos:	305-W96-4672 305-554-0231			12	EA	\$ 195.25	\$ 2,343.0
			305-245-9341			12	EA	\$ 37.65	\$ 451.8
		Estimated	One-Time Charg		No. 1			Manager 1987 and American Street	
	3.		Nuclear Power						
		Bill Nos:	305-V51-0313			12		\$ 81 75	\$ 981.0
			305-464-9796 305-464-9889			12	EA EA	\$ 31.45	\$ 377.4
		Estimated	One-Time Charge		No. i		La	Y_31.45	377.4
	4.		iclear Power Pl			10			
		Bill Nos:	704-M17-1372 704-335-5427			12	EA	\$ 188.95	\$ 2,267.4
			704-875-6254			12	EA	\$ 45.18	\$ 542.1
		Estimated	One-Time Charg		No. 1			7	Torontonia and the second
	5.		lear Power Pla						
		Bill Nos	919-M43-2121	(ENS-EOF)		12	EA	particular control and the analysis of the control and the con	\$ 997.2
			919-362-5663 919-362-5759			12	EA EA	\$ 45.18	\$ 542.1
		Estimated	One-Time Charg	es (See Item	No. 1		En.	43.10	7 342.1
	6.	Vogtle Nuc	lear Power Pla	nt					
			404-554-4434	(HPN-EOF)		12		\$ 30.35	\$ 364.2
			404-554-9709		**	12	EA	\$ 32.65	\$ 391.8
		Estimated	One-Time Charg	es (See Item	No. 1	3)			

STANDARD FORM 36, JULY 1966 GENERAL SERVICES ADMINISTRATION FED. PROC. REG. (41 CFR) 1-16.101

CONTINUATION SHEET

REF. NO. OF DOC. BEING CONT'D.

PAGE OF

38 11

NRC-33-87-230

NAME OF OFFEROR OR CONTRACTOR

EM NO.	SUPPLIES/SERVICES	QUANTITY	UNIT	UNIT PRICE	ТИОМА
	7. Georgia Tech - Seismic				
	Ciit No. 40 pmyc 119201 CB				
	Circuit No. 40.RTNC.118201.SB Bill No. 404-M21-2564	12	EA	\$ 271.15	\$ 3,253.8
	Circuit No. 40.PLDA.1949.SB				
	Bill No. 404-M82-4104	12	EA	\$ 402.20	\$ 4,326.4
	Estimated One-Time Charges (See Item No. 13	1)			
	8. Brunswick Nuclear Power Plant				
	Bill Nos: 919-457-4929 (HPN-EOF)	12	EA	\$ 37.42	\$ 449.0
	919-457-4930 (HPN-TSC)	12	EA	\$ 37.42	\$ 449.0
	Estimated One-Time Charges (See Item No. 13				
	9. Hatch Nuclear Power Plant				
	Bill Nos: 919-367-5302 (HPN-TSC)	12		\$ 32.65	159-1781-118511-1101-1102-1102-11980-1981-10000-
	912-367-5314 (HPN-EOF) Estimated One-Time Charges (See Item No. 13	12	EA	\$ 32.65	\$ 391.8
	10. Robinson Nuclear Power Plant				
	Bill Nos: 803-383-6103 (HPN-TSC) *	12	EA	\$ 97.05	\$ 1,164.
	803.383-4301 (HPN-EOF) Estimated One-Time Charges (See Item No. 13				
	II. Oconee Nuclear Power Plant				
	Bill Nos: 803-882-7060 (HPN-TSC) *	12	EA	\$ 94.15	\$ 1,129.
	803-882-7260 (HPN-EOF) Estimated One-Time Charges (See Item No. 13				
	12. Catawba Nuclear Power Plant Bill No: 803-831-8422 (HPN-TSC)	12	EA	\$ 55.00	\$ 660.1
	Estimated One-Time Charges (See Item No. 13			7	- 0001
	13. Estimated One-Time Charges:				\$ 2,900.
	(Includes installation, removals, maintenan and moves of all of the above locations,	ice,			
	telephone lines, and circuits.)				
	14. Toll Calls (for all of the above locations				
	and telephone lines)				\$ 2,520.6
	TOTAL ESTIMATED COSTS - FY 1988 .				\$32,239.0
	TOTAL (FY's 1987 and 1988)				\$8,879.0
	* Both Bill Nos are billed together.				
	These services shall be provided in accordance v	with the re	tes	terms, and	condition
BER	set forth in applicable Tariffs as filed with a				